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Section – ‘A’ (carry one mark each)
1. If [image: image6.png]x# 0



 is a rational number & [image: image8.png]


 is an irrational number, then what can you say about:
(a) [image: image10.png]x+y ) x—y (e) xy




2. When quadratic polynomial has no real factors, then how many times the graph cuts the [image: image12.png]


?
3. If [image: image14.png]


 are the zeroes of the polynomial [image: image16.png]x* —5x +3



, find the value of [image: image18.png]a+f—af



.
4. What is the minimum number of solutions that a system of simultaneous linear equations must have, if it is a consistent system?
5. Find the value of [image: image20.png]


, for which [image: image22.png]


 is a solution of the quadratic equation: [image: image24.png]kx® +2x — 3



.

6. Find the distance of the point [image: image26.png]P(6,8)



from the origin.
7. If [image: image28.png]AABC~ ADEF,£A




 then write the measure of angle [image: image30.png]



8. PA & PB are tangents from P to a circle with centre C. If the [image: image32.png]


 find angle ACB.
9. What is the height of the cone where base area & volume are numerically equal?
10. Can the probability of occurrence of an event number be  [image: image34.png]



Section – ‘B’ (carry two marks each)
11. Find the middle term of the A.P. [image: image36.png]



12. Three vertices of a parallelogram ABCD are [image: image38.png]A(3,4),B(3,8)&C(9,8).



 Find the fourth vertex D.

13. If [image: image40.png]3cos6 — 4siné = 2cos6 + siné,



find [image: image42.png]tan@



.
14. The sum of the radii of the two circles is [image: image44.png]140cm



 & difference of their circumferences is [image: image46.png]88cm



. Find the diameter of the circles.
15. A card is drawn at random from a pack of [image: image48.png]52



 playing cards. Find the probability that the card drawn is:
(a) A face card
(b) A court card

Section – ‘C’ (carry three marks each)
16. Use Euclid’s Division Lemma to show that the cube of any positive integer is in the form of [image: image50.png]



[image: image52.png]9m+1,0r9m+8,



for some integer [image: image54.png]


.
17. Obtain all other zeroes of [image: image56.png]2x* + 5x° — 28x — 15,



 if one of its zeroes is [image: image58.png]


.
18. There is a rectangular plot having a perimeter of [image: image60.png]32m



. If its length is increased by [image: image62.png]2m



 & the breadth is decreased by [image: image64.png]im



, the area of the plot remains same. Find the length & breadth of the plot.
19. Show that the sum of an A.P. is [image: image66.png]


, the second term is [image: image68.png]


, & the last term is [image: image70.png]


, is equal to [image: image72.png](b+c—2a)(a+c)
2(b-a)



 . 
20. The perimeters of two similar triangles are [image: image74.png]54cm & 18cm



 respectively. If one side of the first triangle is [image: image76.png]18cm



, what is the corresponding side of the other triangle.
21. If [image: image78.png]a cos — bsinf = x & asinf + bcos =y,



prove that [image: image80.png]a®+b* =x*+y°



.
22. A horse is tethered to one corner of a rectangular grass field [image: image82.png]40m



 by [image: image84.png]24m



 by a rope [image: image86.png]14m



 long. Over how much area of the field can it graze?
23. A peacock is sitting on the top of the pillar, which is [image: image88.png]


 high. From a point [image: image90.png]27m



 away from the bottom of the pillar, a snake is coming to its hole at the base of the pillar. Seeing a snake the peacock pounces on it. If their speeds are equal at what distance from the whole is the snake caught?
24. Prove that the intercept of a tangent between two parallel tangents to a circle subtends right angle at the centre.
25. Construct a circle of radius [image: image92.png]3.5cm



, draw two tangents to this circle such that the angle between them is [image: image94.png]45°



.
Section – ‘D’ (carry six marks each)
26. Two circles touch internally. The sum of their areas is [image: image96.png]116 msq cm



 & the distance between their centre is [image: image98.png]


. Find the radii of the two circles.
27. State Pythagoras theorm & then prove it.
Using above theorm:
A point D is on the side BC of an equilateral triangle ABC such that [image: image100.png]DC = - BC.



 Prove that [image: image102.png]AD® = 13CD?



.

28. Four right circular cylindrical vessels each having diameter[image: image104.png]21cm



 & height [image: image106.png]


 are full of ice-cream.                        The ice-cream is to be filled in cones of height [image: image108.png]12cm



 & diameter [image: image110.png]Tem



 having a hemispherical shape on the top. Find the total number of such cones which can be filled with ice-cream.
29. A man is standing on the deck of the ship, which is [image: image112.png]10m



 above the ground level. He observes the angle of elevation of the top of a hill as [image: image114.png]60°



 & the angle of depression of the base of the hill as [image: image116.png]30°



. Calculate the distance of the hill from the ship & the height of the hill.
30. Find the mean of the following distribution:
	[image: image117.png]Income (In Rupees)




	[image: image118.png]No.of Workers





	[image: image119.png]More than or equal to 500




	[image: image120.png]127





	[image: image121.png]More than or equal to 600




	[image: image122.png]120





	[image: image123.png]More than or equal to 700




	[image: image124.png]112





	[image: image125.png]More than or equal to 800




	[image: image126.png]105





	[image: image127.png]More than or equal to 900




	[image: image128.png]101





	[image: image129.png]More than or equal to 1000




	[image: image130.png]95





	[image: image131.png]More than or equal to 1100




	[image: image132.png]70





	[image: image133.png]More than or equal to 1200




	[image: image134.png]57






Answers
(1)  [image: image136.png]an irrational number.




(2) [image: image138.png]It cuts x — axis zero number of times.



 

(3) [image: image140.png]



(4) [image: image142.png]






(5) [image: image144.png]








(6) [image: image146.png]10 units



 

(7)  [image: image148.png]





(8) [image: image150.png]







(9) [image: image152.png]



(10)  [image: image154.png]


 



(11) [image: image156.png]253









(12) [image: image158.png]D(9,4)




(13)  [image: image160.png]tand = -






(14) [image: image162.png]154cm,126cm








(15) [image: image164.png]D5, ()




(17)  [image: image166.png]


 


(18) [image: image168.png]10m, 6m



 





(20)  [image: image170.png]6cm




(22) [image: image172.png]154m*



 



(23) [image: image174.png]12m



 





(26) [image: image176.png]4cm, 2cm




(28) [image: image178.png]216







(29) [image: image180.png]17.32m, 40m








(30)  [image: image182.png]Rs 1069.69
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